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Pr-OeBENOMMEHT ™

2-KOMHaTHaA KBapTVPa, 58.2 M? C OTOESKOM

YXNTOM KOMIMJSIEKC
OkTa6bpbcKoe none

Kopnyc Cekuwns OTax =
1 1 /721
14,9 15,3 o0
KoMHaT Mnowansb OTaenka L)
2 58.2 M2 EcTb v
D 1,5
7
5
26 923 320 py6 ] Z
2,8
Aptnkyn 3k1-11-070
13,1

3,4 (1,7)




Pr-AEBE/TOMMEHT =

2-KOMHaTHaA KBapTUPa, 58.2 M? C OTOESKOM

YXNTOM KOMIMJIEKC
OkTa6bpbcKoe none

Kopnyc Cekuwns STax

1 1 M/ 21
KomMHaTt lNnowanb OToenka
2 58.2 M2 ECTb v

26 923 320 py6

ApTtukyn  3k1-11-070 @/\L : : , , T e
3,4(1,7) s ! 4 a




